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Circuit Theory | (16.201):Final Exam Practice B solution

Total 25 pts

1. (5) The switch in the circuit has been closed for a long time before opening at t = 0.
Find i (t), and vg(t) for t > 0.
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a. (5pts) The switch has been closed for a long time before it is open at t = 0. Find #(t) and 7,(t) for t > 0.
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3. The switch has been closed for a long time before open at t = 0. Find v (t) for t > 0.

30Q

+
C) . 60 s Ao0mF

'Qei w.rt doV
ey = 9t e iiEe +22)+652
::Ci-f-&;-f—é = GoS2 .

=22 56 A Tn =Sk 025

i :él:éro";’%u)
Upz dols = doroas =SV

Q%’rw tau)ﬂ—ol/\

Ren= 9 + 20l (S0 t2e)

T - f =91+ __13_‘;-_-;?3—: 308%

oV 0% = O4F
U} UGCDO):D_DV) ,.Z&C ‘:..-?)D)\O\':B
L £
T ke

Oy (4)= Ve@)+ (Ueto) =Vc82) ) €

g
-ap + (g8-20)€

vt
=dodre”” vV,




4. (5pts) For t <0, the switch is closed. Assume that a steady state has been reached by
t=0. At t = 0, the switch is open. Find v (t) for t>0.
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5. (5pts) Find v (t) and vg(t) for t > 0. Recall that u(-t)=1 for t<0 and u(-t)=0 for t>0.
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